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// create feedforward info
gen hiqual_dv=-9
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replace hiqual_dv=1 if gqfachi==1 | qfachi==2 | ¢fedhi==1 | gfedhi==
replace hiqual_dv=2 if gfachi==

replace hiqual_dv=2 if gfedhi==5 & hiqual_dv==-9
replace hiqual_dv=3 if gfachi==4 & hiqual_dv==-9
replace hiqual_dv=3 if gfedhi==6 & hiqual_dv==-9
replace hiqual_dv=3 if gfedhi==10 & hiqual_dv==-9
replace hiqual_dv=4 if gfachi==5 & hiqual_dv==-9
replace hiqual_dv=4 if gfedhi==7 & hiqual_dv==-9
replace hiqual_dv=2 if gfedhi==3 & hiqual_dv==-9
replace hiqual_dv=5 if gfedhi==4 & hiqual_dv==-9
replace hiqual_dv=5 if gfachi==6 & hiqual_dv==-9
replace hiqual_dv=5 if gfedhi==8 & hiqual_dv==-9
replace hiqual_dv=5 if gfedhi==9 & hiqual_dv==-9
replace hiqual_dv=5 if gfedhi==11 & hiqual_dv==-9
replace hiqual_dv=9 if gqfedhi==12 & hiqual_dv==-9
replace hiqual_dv=9 if gfedhi==13 & h1qua1 dv==-9
replace hiqual_dv=-9 if hiqual_dv==

tab hiqual_dv

// hiqual_dv missing for proxy respondents, so take previous wave

response instead
replace
L.hiqual_dv<.
// some
overwrite these.
replace

hiqual_dv=L.hiqual_dv if hiqual_dv<0 & L.hiqual_dv>=1 &
new qualifications are Tower quality (as per hiqual_dv) so

hiqual_dv=L.hiqual_dv if L.hiqual_dv>0 & L.hiqual_dv<hiqual_dv
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